Guhgp

Gwhgp Guhgp

Guithgp thwthndy pGwhnnhg

Gwhgp

Gujhgp thwthntly pGwhnnpg

MnjhtphihGuyhG funnnyuly d=50x34dd

Guithgp thwthndy pGwhnnhg

Guhgp thwihny

MnhtphitGuwyhl junpnyuy d=50x3u84

‘Luwfuwywnpuunw w6 ytpun

MnjhtphibGwyhl unnnyuy d=50x3d4

pGwhnnhg

‘Lwhiwywnpwunwlul 2tpun

wjwqghg 6=10ud

‘Luwfuwywnpuwumwlub )tpum

MnhtphitGuwyhl junpnyuy d=50x3udd

wyjwqghg 6=10ud wyjwqghg 6=10ud

‘Lwhiwywnpwunwlul 2tpn

wjwghg 6=10ud

Guhgp

Guihgp thuthniy pGwhnnhg

MnjhtphiilGwjhl junnnjuy d=50x3dd

‘Lwhuiwywunpuwunwui 2tpum

wjuwqhg 6=10ud

Guihgp

Gwuihgp thunthml pGwhnnhg

MnjhtphibGwyhl junnnyuy d=50x3084
‘Lwhiwywnpuwunwlul ytpun
wjwqghg 6=10ud

2025.40 2004.56 z 1885.36 1944.67 1927 1914.17
- ™ 3 L = - ' - N
e 2003.p1 | e )
1.41 = Sl 1884.36, | A 1943.67 o 1926.16 1913.21
T e N P P b g: P P o - N e
0.5 1, |- 0.5, 1, 0.5 4 0.5 |,
nun 1:100 = TS
hnp 1:100
oS e ~ S [ 0O o~ Neval LAl o N 0 Nellol on [ o~ v >~ D o) <t el O < <t (o] o~ >~ —
<o Ghobyn =% £33 E2 Z7 c £ I I3 B e : ¥ 73 $ o 2 : S 3 Z
n
o 22 g g d 4 dd S = g8 g s 2 2% 2 2 5 I ¥ 3 3 3 S S8 S > 5 5 >
AN AN (@] N N N [Q\Ne\] [\l [@\@\] (@] N N — —— — — — — — — — — — —_ — — — — — —
<tnwynpnipjmbp lo.6] 09 J0o7] 1.6 lo7] 13 p4 | 13 db 1 | 14 | 1] | 1odlioo | 1.1 09| l10] 14 | 16 Jo7] 4.1 b4 24 4.3 l1o] 20
LU 0+56 LU 1+60 LU 2+68 LU 4+70 LU 5+75 LU 6+70
Guihgp Guihgp Guihgp Guhgp Gujhgp Guhgp
Guihgp thwthntl] pGwhnnhg Gwuihgp thwthml pGwhnnhg BGuihgp thwthmly pGwhnnhg Guihgp thwthnty] pGwhnnhg Guihgp thwthnl] pGwhnnhg Buihgp thwihnyy pGwhnnhg
MnihtphiilGwyhG funnnyuly d=50x3ud MnihtphitGuyhG funnnyul d=50x3dd Mn htphihGuwyhG funnnyul d=50x3udd MnihtphiiGuwjhG funnnyul d=50x3ud MnihtphitGuyhG funnnyul d=50x3udd MnihtphiiGuwjhG funnnyul d=50x3ud
‘Lwhuwywnpuwumwuw ptpm ‘Luwuwywunpuwumwuwl ptpun ‘Luwfuwywwmpuumwub 2tpn ‘Lwhiwywnpwumww ptpm ‘Lwhiwywunpwumw i ptpum ‘Lwfuwyunpuunwub 2tpn
wyjwqhg 6=10ud wywqphg 6=10ud wyuwqhg 6=10ud wyjwqhg 6=10ud wyjwqhg 6=10ud wywqhg 6=10ud
1902.64 1879.92 1860.91 1839.76 1829.55 1821.45
- - N - - . - -
o 154
1901.64 1878.99 ] & 1859.91 1838.78 z 1828.55 1820.47
=l S Sl S e S Sl U I A
0.5 0511, - 0.5 05,1, 05 |
mnn 1:100 —»r —,r 0
hnp 1:100
v <t o on — N [\ e ] N - by - by v v n \O 0 o0 — i v O Vel Nel <t <n O o~ 0
e O o o\ S o N D N N N N N IR R 0 \nownn N N ) N DA A
<nnh Ghpbpp s 8 s g g 2 X B R g 2 9 2 8 aaa @o @ Q A Q Q IS SN A A o
2 2 2 3 2 x ox= o® X = z 2 z Z zxx 2¥ = zoEEE  ® 2 &= xe® ® X
<tnwynpipnilp |10 ] 13 [09]08] 0842 1.0 [08] 12 | | 10 | 11 | 0.9 | lo.sp.slo.s| 1.0 [ 15 l0.7d.304 13 | 13 | 1.6 0.30.50.8[0.7]
Lu 7+70 LU 9+50 LU 11+40 LU 13+40 LU 15+40 LU 17+30
Guihgp Guihgp Guihgp
Guihgp thwthniYy pGwhnnhg Guihgp thwthny pGwhnnhg BGwuihgp thuthny pGwhnnhg
MnihtphikGwyhG funnnyuy d=50x3ud MnihtphiiGuwyhG funnnyuy d=50x3ud MnihtphihGuyhG funnnyul d=50x3ud
‘Lwuwwywmpwunwlwb 2hpn ‘Lwjuwwywwnpwunww phpn ‘Lwuwywunpwumww ptpn Owlnpmp)niG
wyjwqhg 6=10ud wyjwqhg 6=10ud wywqhg 6=10ud
1. UnyG qowghpp Guyty N 10-12 qowgptiph htim hwdwwntin:
1816.43 1807.36 1787.10
e e % N
b (=]
= N
l% E;/ % E % LJ I3\ MNuwnyhpuwnnt - Gymquninbtunipjul MuydwGwaghp - Ne
05 0k 0.5 qupqugiw hhdGunpu, < HU LHOUU N CARMAC2-CP-CS-18-04(Design)
— T T —7 =
ninn 1:100 S M@ S\ &hb R << 7 dwpqtiph 26 hwiw)Gph/hwiw)ph pGwliuwwjph wpnunwywjpbpnud
hnp 1:100 e “ enwpphwgiwl hwiwljwpgbph Junngiwl wyfuwnwbpltph
hpwljwlwgiwl hwiwp Gwhwgqowlwuwhw)ywihl hwunmwpnpbinh
a % 2 Q g g % R g ﬁ Q g % 8 2 : S' ] Juquiinid L thnpdwpGlnipjul hpwljwlwgnid
<nnh Ghzbpp 222 2 = 22 S 55 S g g & & & % LA |0 UwGmpwpyud ,J,%fﬁ << Unnwjph vwpgh QuptGgwywt huiw)ph R9Gh
® = X x x = < X =z x < = = = = Vuwhwgd. |0k bwgwapui] 2, | plwluuyph 1745.44 hw wpnnuwjptpnud gpupphwgdwt
Jtnwynpnipjnilp log]10] 22  Joe] 21  Jog 20 Joslto ] 19 2.8 5.3 | 16 1.8 Unmghg | L. Cuwhpuquil W hwdwlwngh Yunnignid
~ |
VU 18435 VU 19425 B 20430 fuingh@ dnuntigling gpuwnwph | P | Otnp | Otpptn
wyGuyuwl Yupguopltn
BU 0+00 - LU 20+60 R 36




